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Question Number : 1 Question Id : 3354726531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gg’ho was the first speaker of the Legislative Assembly of Madhya Pradesh? | We USaT @1 o= T9T & Ugel ahl i

Options :

1. ¢ Pt. Kunji Lal Dubey | GiZd gl ool gel
# Sitasharan Sharma | TR smf

® Sarla Grewal | G¢AT UaTe

4 % G P Bhatt | ST dtwg

™

W

Question Number : 2 Question Id : 3354726532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who established a chain of CSIR scientific laboratories in India? | AR # SUETE ST SATwE TAITATATST 81 46T
Teperet T 7

Options :

1. ¥ H.]. Ehabha | a9

2. ¥ BD. Nag Choudhury | &1 71T Zireret
3. ¥ DS Kothari | ELUa ®ERT

. % 5.5 Bhatnagar | 09,09 HeAT

o

Question Number : 3 Question Id : 3354726533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who founded the Golconda Dynasty (sultanate)? | TGt Tad (Head) &1 &ImT e & o

Options :
1. ® Adil Shah | sfee ag

2. ¥ Mohammad Govam | Algrie Mad
3. ¢ Quli Qutb Shah | Fell Fge 415
4. ®¥ Bahman Shah | ¥gA9 a5

Question Number : 4 Question Id : 3354726534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which country held the number one position in [CC ODI rankings as on 30 Oct 20177 | 30 S/@gsK 2017 w
STEETET &t U Tead i T # TR Tar @ Hew U T T

Options :

1. ® Australia | sffegform

2. ® England | $vie
. ¥ South Africa | Zi&oT snbieT
. % India | 9RT

L

e

Question Number : 5 Question Id : 3354726535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the title sponsor of Hockey India League 20177 [ g1l ST AT 2017 W7 Sep W= B 57
Options :

1. #¥ Reliance Industries | @ s
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2. ® Star Plus | e/ [&9
3. ¢ Coal India Ltd. | #i Slzar whies
4. % viyo | Tt

Question Number : 6 Question Id : 3354726536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The power to prorogue the Lok Sabha rests with the
I

Options :

1. ® Speaker | &BT

2. ® Chief Justice of India | IR & G&I T
3. ¥ Prime Minister | W #3T

4 ¢ President | areag

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 7 Question Id : 3354726537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The plateau richest in minerals in India is_____________. | RT G A e AHg Ta_________ H

Options :

1. ¢ Chhota Nagpur Plateau | #1eT AT 181
2. ® Mysore Plateau | #T UG

3. ¥ Deccan Plataeu | g U8

4. ¥ Malwa Plateau | AT U3

Question Number : 8 Question Id : 3354726538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Saubhagya’ Scherne announced by the Prime Minister recently is intended to provide _______. | TEITTHAT BT 5Tl
R RCHECRCICRE R S ) e & & 2l
Options :

1. ¥ assistance towards marriage expenses of girls in rural areas | UHIT SATE! § ASTFd] &1 J51 & G A dGgraaT
HEAT

2. ¥ cooking gas connection to rural households | TTHIT WiER! ®1 @1E 19 dagae
3. ¢ electrification of households across the country | Q¢ ¢ # ol @7 feregd e
4. %® employment opportunities for wormen across the country | ¢ <& # Aigamei & oy TSATRK & @6t

Question Number : 9 Question Id : 3354726539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following is India’s first television soap opera? | FHATETRET § & @19 97 YR/ F7 Ugar dolliaom aRTaTsd
&

Options :

1. ¥ Humn Log | g @M

2. ® Yeh Jo hai Zindagi | ¥ 9T & it
. ® Buniyaad | §=a1g

® Ramavyan | THROT

L

-
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Question Number : 10 Question Id : 3354726540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The principal seat of the High Court of Madhya Pradesh is at; | Fed 0SS & I3 AT & W 36 &

Options :

1. ¥ Bhopal | HMTA

2. ¥ Jabalpur | &yt

3. ¥ Indore | T2
4. ® Gwalior | T@TAAT

Question Number : 11 Question Id : 3354726541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

According to area (km?), which state is the largestin India? / &T3%al ([haACE) & HTIR,
AR T HeT a7 Tsd i A &7

Options :

# Madhvya Pradesh | AT W

# Maharashtra | AgRTE

# Karnataka | @ic®

. ¥ Rajasthan | T=e™

w N

.Y

Question Number : 12 Question Id : 3354726542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Where is the Kundadev Mahadev temple situated in Tikamngarh District?| e el o 727 HETSH HIGT wgl
%; Where is the Kundadev Mahadev temple situated in Tikamgarh District?| Twmmg Bed AgTea Wit &gl

Options :
1. ¥ Kundeshwar | SePat
2 ® Orchha / T

3. ® Betul | 99
4. ¥ Morena | g1

Question Number : 13 Question Id : 3354726543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The district of Neemuch touches borders with which other state? | A TH@T T 37 7= &1 THT & €44 FaT1 57

Options :

1. ¥ Rajasthan | T

2. ¥ Maharashtra | AgRTE

3. ¥ Uttar Pradesh | 39T u2d
4. ® Chhattisgarh | gdd1aTg

Question Number : 14 Question Id : 3354726544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following is a popular tourist spot in Indore? | FEETET § § @149 520 # UF A0 0T The T &7
Options :

1 8 Realhach | SaaTT
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[

. ¥ Lal Bagh Palace | @Td a1 Hgd
¥ Aishbagh | UsamT

#® yyoharbagh | saigRamT

L

e

Question Number : 15 Question Id : 3354726545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Rewa Kund monurments in Mandu is associated with the romance between Baz Bahadur and ______. | T H T
B THR eI agIge 8T ______ o el THTE & |1 2T 5o 3]
Options :

1. ®¥ Rani Padmavati | T 0aIed T
2. ® Rani Kamlavati | THT THATAT
3. ¥ Rani Rooprnati | {1 ®wdT

4. ¥ Rani Prermvati | T UAadT

Question Number : 16 Question Id : 3354726546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Cn which ri%r;er is the Nalhesara Dam constructed in Balaghat District? | aTaTaTe Foe # ST aer @7 =Afr e [
T e T B

Options :

1. ® pParvati | Urddr

2. ¥ Bainganga | €97
3. ¥ Narmada | FHaT
4 ¥ Chandan | @27

Question Number : 17 Question Id : 3354726547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which one of the following districts of Madhya Pradesh is the Gun Carriage Factory located? | A Uar &
ot et § & frad 19 ¥ St 9m 27

Options :
1. ¥ Barwani | eXamHl

2. ¥ Bhopal | €&
3. ¢ Jabalpur | FEAYC
4. ¥ Gwalior | AT

Question Number : 18 Question Id : 3354726548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Hindola Mahal and Jahaz Mahal are both located in___. | TES1AT Aga 3T A5 AEA g1

Options :
1. ¥ Mandu | 7ig

2. ® Rewa | T

® Bhojpur | =TT

% Rajgarh | TG

# T @

L

s

Question Number : 19 Question Id : 3354726549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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How many coastal districts are there in mainland India? | 9RT &1 & Gif § g aera B 87

Options :
1. % 78

B
i

P

w

N
i

-

MJ
o

Question Number : 20 Question Id : 3354726550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
According to 2011 Census,

2011 T ST o BRI &, HeAUSH F [T ei
Options :
1. ¥ 4557

o o

|

NN

~

L
¥

~J
Ul
U
Y

e

¥
=)
¥
w

__________ % of geographical area of Madhva Pradesh consists of forest area. |

% I &

General Maths and General Aptitude

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472189
2

Online
Mandatory
20

20

20

Yes

No

1
335472189
Yes

Question Number : 21 Question Id : 3354726551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

By selling an article at two-fifth of the marked price there is a loss of 25%. The respective ratio of the marked
price to the cost price of the article is___. [ U =9&g ®1 Sifehd Jrd & 25 U izl & 25% 1 511 FId 1 §1 oy o sifeed grd

T I T G & Faired
Options :
1. % 25

- < .
2 % 50

L @

w

® 315
W 1SR

N

Question Number : 22 Question Id : 3354726552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Cinala T ina Nuactinn MNintian « Nla MNintian Nieiantatinn « Vartinal
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Correct: 1 Wrong: 0

An amount of money is to be distributed among 4, E and C in the respective ratio 7:6:12. If A and E together
et 50 more than C, then what was the amount received by A7 | Ud &S #T A, B oR C & & 7:6:12 & arurd
TR AT AT A W E GRr # C & S0 3118 0T #d &, 91 A ST HTH s e off?

Options :
1. ¥ Rs. 600 | 600 70

2 % Rs. 300 | 300 30
2 % Rs. 350 | 350 &0
¥ Rs 1250 | 1250 Tu<

L,

o

Question Number : 23 Question Id : 3354726553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If 'a'is the average of the following 6 numbers 44, 444, 844, 1244, 1644, and 2044, thenais___ | Iig FF 6
TeEaTal 44, 444,844,1244,1644, 2044, FTeg 'a' g, ar'a’

Options :
1. ® 944

2 8 1244
3. ¥ 1044
4 ® 1144

Question Number : 24 Question Id : 3354726554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the root of p(x) = 0is V2. then the zero of p (x) is /TG p(x) = 0T Hel VZ &
ar p(x) &7 L 2l

Options :
1. % -2

2 ® 2

MJ

Question Number : 25 Question Id : 3354726555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :

[ =
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-

o ®
J6
%
3 o
J6
42
4 *®

Question Number : 26 Question Id : 3354726556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Ifthe area of a square field is 2550.25m?, then its side is: [ afE TS TIRR &7 &1 &a3%d
2550.25# @, @Y SHPT o<l &

Options :
1. ¥ 50
2 W EQLS
3. %515
4 ¥ 525

Question Number : 27 Question Id : 3354726557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | 3i&q o
54, 75, 28, 41, 17

Options :
1. ¥ 41
® 42
¥ 43

® 44

M

L

=

Question Number : 28 Question Id : 3354726558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 5% —4x + 7=0, then (5x -2)? is equal to: / IT¢, 5x? —4x+ 7=0,dl (5x -2)? =T & =N
Options :
. W =0
® 31
“ 1=

[\J»—L

L
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Question Number : 29 Question Id : 3354726559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A, Band C competed in an ice Ccrearm eating contest. 4 ate & scoops in the same time as B ate 4 scoops and C
ate 5 scoops. Now 4 ate 18 scoops in half an hour. How many scoops in total did they eat together in half an
hour? | A, B 3 C = U TS @1 & Tid<imaT § 977 fom a0 ana # A 96 &0, B = 4 #q9 ofR C 9 5 T @M &
e Ee H A T 18 Ty @ e U § 39 91 A g dr 0w el Toha - w0 @y

Options :
1. ¥ 30
2 827
3. % 33

4. ¥ 45

Question Number : 30 Question Id : 3354726560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

James can mop and sweep the floor in 24 minutes and Jill can do the same in 12 minutes. If they work
together, then how long will it take for the work to be completed? | <7 B %1 24 9z | 2112 oY UiF 9@FdT & i
e g 12 T o & a1 g1 9ie o | T0eee &1 @ 5, 71 F1 @i G @ | F=r ame s

Options :

1. ¥ 6 mins | 6 AT
2. ¥ 8mins | 8 me
3. ¥ 10mins | 10 9z
4. % 12mins | 12 =T

Question Number : 31 Question Id : 3354726561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the sum of the 10 angles marked i the givenfigwre? /T3 & AT 10 o7 &1
TRThe &7 87

Options :

1. ¥ 360
2. ¥ 420
3. ¥ 540
4. ¥ 720

Question Number : 32 Question Id : 3354726562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the rernainder when 7492 is divided by 117 | 7492 &1 11 & TITT @ UT S9EA 2T 51dT 57
Options :

1.¢1

3. % g
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4 ® 10

Question Number : 33 Question Id : 3354726563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The ratio of the present ages of two friends is 1:4 and 4 years back the ratio was 1:7. What will be the ratio of
their ages after 10 years? | of T & ad 019 AT &7 arguTd 1:4 & & 4 a9 g argurd 1:7 &m 10 =67 & aTg 6! A1 &7

GJQEHETWTE;II ¢
Options :
1. % 3.

N

4 ®

M2
La

(A ]
~

n
N

Question Number : 34 Question Id : 3354726564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 40 musicians invited for an event and only Se;ren—tenth waSs Present. what is the number of
musicians who missed the event? [ U@ THwH & 67 40 HiidwR! B START T T &t e 710 Iuieda 9 39
GITRRT T FEAT a1l § AT B § Sy 27

Options :
1. % 10
2 %11
312

4 ¥ 13

Question Number : 35 Question Id : 3354726565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If the sum of the square of a number and its square root is equal to the half the square of €, then the number

is___. | afe e g & il of IHek g @ AN, 6 o a7 o ITe O efiat o, af §edT _______ 2
Options :
1.¥ 4

4 %7

w

Question Number : 36 Question Id : 3354726566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

4,/63 +57 — 9y/28=7

Options :

2V7

7

r
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V14
‘ V21
4 B

Question Number : 37 Question Id : 3354726567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number ______ has no multiplicative inverse. [ ____ AT T H1E UHcAF NG AT 51 ol

Options :
1. %2

* -1

™

(W]

D

iy

Question Number : 38 Question Id : 3354726568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If 11111 is represented as an infinite decimal, then what will be its 2000th digit after the decirmal point? | afg
11/111 Pl S SAHAD & & H FATAT A, T SUAA [elg o ag IdbT 200087 Sﬁﬁﬂ?ﬂéﬂw

Options :

1.¥9

® 3

o

S

Question Number : 39 Question Id : 3354726569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Bama and Jaya each took four 100-point tests. Bama got an average of 78 on the four tests. Jaya scored 10
points higher than Barma on the first test, 10 points loweer than her on the second test, and 20 points higher 01
both the third and fourth tests. What is the difference between Jaya’s dverage and Eama’s dverage ol these
four tests? | STHT &M ST Hodieh = = 100 - (T i GLigTd &N <TAT @1 =T Geigmsit # 73 @7 sfled HIH e ST ol WIw gl
TaTAT 10 3fw st T alyn # 99 10 o #8, 0d 1 o 2elt ST agnedt # 20 a7 arfee a g e =it
neraTart # ST & effEd ST ST & afted | g sEY 87

Options :
1. % 20
2. ¥ 10
%0

W

Question Number : 40 Question Id : 3354726570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Five years ago, the respective ratio of the ages of a mother and daughter was 7:3. After six years, the ratio will
be 16:10. Find the present ratio of their ages. | Uid @y ugel, AT & QHT & 211 #T Head SguTd 7:3 91 9% o9 W,

U 16: 10 TN FAehT 3T T ad A1 SFIHTd AT Fd

Options :
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Ly ™ S

2. ¥ 137

3 ¥ as

4 ® 52

General Hindi

Section Id : 335472190
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472190
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TTeTET # & i s 51 8 -
Options :

1. %=

®yq

M

L

o

NN

Question Number : 42 Question Id : 3354726572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Options :

&

1. ¥ guigy
2 ® ewH

(k)

Ny

Question Number : 43 Question Id : 3354726573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ToH @ I |1 O TR g -
Options :

o R T
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Question Number : 44 Question Id : 3354726574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Question Number : 45 Question Id : 3354726575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST HA S B ATl TR I ____________ TR B
Options :

M2

w

-

Question Number : 46 Question Id : 3354726576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘T T gAaam ! g § § w4 9787
Options :

[

LA}

-

Question Number : 47 Question Id : 3354726577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

‘HE H AR ATAT F o U Seg Mg H A BT AT E?
Options :

2. % aEgEr

4 ® =T

Question Number : 48 Question Id : 3354726578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e @ T e e A A @A T gy
Options :

1. % 9+ T
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M

® 4=
Vg

L

Question Number : 49 Question Id : 3354726579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
& AT e geg HE H @ BT A g?
Options :

w

o

Question Number : 50 Question Id : 3354726580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

G I G o eg Mg H A B 7
Options :

1. ¢ gdar

6

¥

L

s

Question Number : 51 Question Id : 3354726581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

FaE deg H T H F F19 A7 aue 27
Options :
4, % gty ga

Question Number : 52 Question Id : 3354726582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

I THAT GETat w1 e Mg H g w AT g
Options :

[

v

Question Number : 53 Question Id : 3354726583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“qealT T G © [ H B 417

Ontions :
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® cadT

—

M2

® Fca

3\

-

Question Number : 54 Question Id : 3354726584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

AT T AT AT 50 & T T 57
Options :
1. ¢ Jearg

Loy

* g

M

L

g

Question Number : 55 Question Id : 3354726585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

eI GraX SATHICR @, T g Al Fel Blivd 40
H I T STHEN 5 G5l dhede 07

Options :

® sridaifs e

&

Question Number : 56 Question Id : 3354726586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

JUgH TR Teg - Ied
Options :

1. ¢ s

%)
®
§

L
¥

s
5%

Question Number : 57 Question Id : 3354726587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

o o @14 &7 Ty ghg |Te & 51 o
Options :

1. ¥ go+0F

2. ¥ g+ apy

3. ¥ g9 + siuty

Question Number : 58 Question Id : 3354726588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Carrect + 1 Wrano + )



11th Dec17 Shift 1

Td J0ET & & T feg, el 5 -
Options :
® ggw

—t

W

-

Question Number : 59 Question Id : 3354726589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
"GTT ST T SIRET & - Fiiep T o7 afef § -
Options :

Question Number : 60 Question Id : 3354726590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

"FAIET T GHTE- TR SdTED)
Options :
1. ¢ B & 5T arar
2 % Aqzd
4. % g T AR
Rural Econormy and Panchayati Raj
Section Id : 335472191
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472191
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich of the following is a source of revenue for Janpad Panchavats? | FMaiRis # € &9 F9ug v=mgaf & g
e & HIT 57
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Options :

1. ¥ Fees for local markets | ¥ a9R! & &7 ge

2. ¥ Fee from auction or lease of ferry services | thil damait &t Fiemat o Fie daralt @ ugT
3. ® Fees on registration of cattle | Hefdt & =iie0T 0T Jedr

4. % Lighting tasx | W &7

Question Number : 62 Question Id : 3354726592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In which year did the first State Finance Cormrnission in Madhya Pradesh subrmit its report? | Aed mey H Uga
T Te ST < o o et feid v b ofi?

Options :

1. % 1994
2. % 1993
3. ¥ 1996
4. % 1990

Question Number : 63 Question Id : 3354726593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is popularly known as ‘Mandi Board'?| ‘#el a1 & &1 # T =71 197 27

Options :

1. ¢ Madhya Pradesh State Agricultural Marketing Board | Hed 0281 =47 §iY S0 i

2. ¥ Madhya Pradesh State Horticulture Produce Development Board | Hed USH T+ aNa 1 Iod1g, @ aig
3. ¥ Madhya Pradesh State Seeds Development Board | A2 0 U201 &1 faTd a2

4. ¥ Madhya Pradesh State Irrigation Development Board | A I8 T &aTe Hea a8

Question Number : 64 Question Id : 3354726594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Rural Knowledge Centres are being set up in the country with the help of ____. | THIT AR dgi @t ____ # T Hes
27 o T TR AT T 8

Options :

1. ¥ World Bank | fd=a dfe

2. ¥ Asian Development Bank | Qidng @ da
3. ¢ NABARD | 9T

4. ¥ Reserve Bank of India | 9Nd = e a&

Question Number : 65 Question Id : 3354726595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

who arnong the following is the present Union Minister for Rural Developrnent? | g # & i fere @ g
TIAT a1 AT B4 57

Options :

1. ¥ DV Sadananda Gowda | St 1. ggFg MaT
2. ¥ Narendra Singh Tomar | Tig g W

® ]PNadda | St =gT

# Harsimrat Kaur Badal | 5TOACT ®IT a1gd

W

>
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Question Number : 66 Question Id : 3354726596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Wages paid to Mahatma Gandhi National Rural Emplovment Guarantee Schermne has now beern linked with

________ | WETEHT TTefT TP WTHIOT T TRET AT BT a1 @1 TS Higel ofe _______ & |rT g2l g8 gl

Options :

1. ® Wholesale Price Index | gietdd TEd so@d

2. ¢ Consumer Price Index for Agricultural Labour | #JAt TTEE 5249 B THideaid s
3. ®¥ Consumer Price Index for Industrial Workers | F<At WT5H 5296 B¢ 5S1€¢ A0 dare
4 % Food Inflation | B §Wla=

Question Number : 67 Question Id : 3354726597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the Ashok Mehta Committee constituted? | 279 REaT THI FT Ta el [T T 417

Options :

1. ¥ 1975
2. % 1976
.V 1977
¥ 1978

8

-

Question Number : 68 Question Id : 3354726598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following is the accounting systerm to be adopted by Grarmn Panchayats? | Fafafas & & a9 €t om
T &RT STHATE AT aTeT w4 ATaT 57

Options :

1. ¥ Mahajani Accounting Systern | AT @@ HoTet
2. ® Single Entry Systern | U®a Wide! Hgid

3. ¥ Double Entry Systern | Sigel el Ggid

Question Number : 69 Question Id : 3354726599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the main objective of E-Procurement scheme in Madhya Pradesh which is intended to help farmers of
foodgrains? | nwu%&rﬂ‘s‘—;ﬁaﬁrﬂtaﬁwmgwaﬁmwa T mra Ty el S SR Wl Y

Options :

1. ¢ Ensuring appropriate price to the farmer | T #1 32T grar feamT

2. ® Procuring good seeds for farmers | el @1 sk sl SUaLH FCHT

3. ® Helping the middle men and agents | Te=iicdt Ud Go¢d &1 g1 &

4 % Providing irrigation facilities | &= gy Iume FTH

Question Number : 70 Question Id : 3354726600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which state among the following is the largest producer of chilli in India | ¥va # e # € @19 a7 0= i @7
He ST ITUEF &7

Options :

1. ¥ Madhya Pradesh | Hed 0aar
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2. ¥ West Bengal | UPaH s
3. ¢ Andhra Pradesh | 31T 0gar
4. ¥ Rajasthan | T

Question Number : 71 Question Id : 3354726601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the prime objective of DRDA adrministration? | DRDA W #1 T&d 537 &7 57

Options :
1. ® Engage more permanent staff by giving more benefits | sifeie @ WaH @ed 3U aifed St wdzicdt &1 gt
2. ¥ Replace district administration over a period of time | U® TAATETE & a1g AT T @1 &80 &7

%V’ Enhance the quality of implementation of anti-poverty schermes | e ToRrelt Fi=mTat @1 @] F @i 0T
qGTT

%ﬁr # Reduce the functions of the agency to make it more effective | Teid! @1 sTTeed WHTAT a=T= & 617 0% F1 A
FEAT

Question Number : 72 Question Id : 3354726602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which one of the following is NOT an objective of Pradhan Mantri Krishi Sinchayee Yojana? | Hafiad # € &
T e HAT @i e e o e TRl 8

Options :

1. ¥ Expand cultivated area | S I &7 &7 Sea ™ FAT

2. % Reduce wastage of water | STo & GoUaNT § HHT HCAT

3. ¥ Eliminate traditional irrigation sources | WWRTT &g Fid! &1 GHTT AT
4. % Improve water use efficiency | THTId® o IHANT H AR AT

Question Number : 73 Question Id : 3354726603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Under MGIMNREGS, if work is not provided within 15 days, applicants are entitled to an unemployment

allowance at what rate? | A= & 957 aie @1 15 oAt o iaT IuAes 951 ST AT &, 97 Sded Tohd 3¢ UT s T e
& FAGI 7

Options :

1. ¥ Full wage rate for first 30 days and ¥ thereafter | Uget 30 Teat & oty qof miewiier gr el 3@ amg 12

2. % 112 of the wage rate for the first 30 days and 1/8 thereafter | ugel 30 AT & HoIgel T &7 12 ol IHF o1
1i8

3. ® 1/8 of the wage rate for the first 30 days and 13 thereafter { ugel 30 &A1 & Toly morgll aT 7 1/8 3t 3%
CIFRNE

4. ¥ 1/3 of the wage rate for the first 30 days, and 1/2 thereafter | Uge 30 {1 & A9l S o 1/3 3K Iq &g,
1/2

Question Number : 74 Question Id : 3354726604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the validity of Job Card under MGNREGS? | HaTT o7 ST1d ATl BIS @1 2T [eha-1 57

Options :

1. ® 2years | 2 a¥
2. ® Syears | 30
3. ¥ Svyears | Say
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4. ® 10vyears | 109

Question Number : 75 Question Id : 3354726605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which among the following was the first scherme for rural development introduced by Government of India in

19527 | 1952 H ANg TE T b qrHi fHwe & @ ugat aremr H & @i o oft?

Options :

1. ® Integrated Rural Developrment Prograrmme | $¢UCE &6l Saeure T

2. ¥ Community Development Programume | #HgMel SasaHe Jiumd

3. ® High Yielding Varieties Development Prograrmme | g8 HeaT aiige i Saaude T
4. ® Intensive Agriculture District Programme | $¢18a Uiidhear iETegae num

Question Number : 76 Question Id : 3354726606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In which of the following years was Rural Electrification Corporation established? | ¥ Soidre [Tbdrae HT01¢I
o) S weToeT TR o < s o

Options :

1. ¥ 1969
2. % 1970
® 1971
® 1972

L

-

Question Number : 77 Question Id : 3354726607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Iar'éc Whi%] %’Eiﬁ? was Rajiv Gandhi Grameen Vidyutikaran Yojana launched? | Trite et wrator ey e aiemr e
I ‘

Options :

1. ¥ 1995
® 2000
. ¥ 2005

® 2010

[0

W

Question Number : 78 Question Id : 3354726608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the following is NOT a function of Grarm Panchayat? | Faieiad § & &9 &7 UTH U=ad &1 F14 A51 57

Options :

# Establishment & Maintenance of local markets | ST SR @ SIUAT S T@0aTd
. ¢ Transport facilities | qﬁu’gqﬁﬁ%ﬂq

# Prevention of contagious diseases | T@HHE T &l THATH

® Lighting of village streets | Tia %! §S ! T LT w1

W e

s

Question Number : 79 Question Id : 3354726609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the teniure of standing committees of Janpad Panchavyat 7 | S90g U=TAd &1 €147 ATHTE T F1 ®Th@Td [hadT
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Options :
1. ® 2years | 2 a9
. ® Zyears | 3 af
® 4years | 4 a8
. ¥ Syears | 5 aW

W

LY

Question Number : 80 Question Id : 3354726610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who can dissolve a Zilla Parishad? | U@ a1 Uie0e @1 @19 977 & GodT o7
Options :

1. ¥ Zilla Panchayat President | a1 tamad areasy

o

¥ State Government | T SRR

(W]

. ® Central Government | #g FHERT
4. ¥ Chairperson of Panchayat Samithi | Temad @iHTd @7 areay

Cormputer Knowledge

Section Id : 335472192

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472192
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The type of threats on the security of a computer system or network are:
i) Interruption

{ii) Interception

{iil) Modification

iiv) Creation

iv) Fabrication

Which of the following options are correct? | U FHIEY TOEEH o7 Teth BT YLy 0T ¢ & FhT =g g1d &
(1) ST (R

(ii) STTETET (STER e

(iii) HTE TOhekar (HaTrer)

(i) Famger (Fmfm

(V) EET (i)

i o & @19 a1 Heew oy 37

Options :
1. ® i ii, iii and iv only | @aei, ii, il 3 iv
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2. ® i, iii, iv and v only | % i, iii, iv 3T v
3. ¥ i ii, ili and v only | #aa1i, ii, iii 3T v
4. % Alli, ii, ili, iv and v | 1, ii, iii, iv ¥ v T4

Question Number : 82 Question Id : 3354726612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which of the following is NOT an accessories tool in a Windows 7 systemn? | FoAfeas 8 & a7 fde 7 fgen o
Options :

1. ¥ Paint | U
2. ® wordPad | T2ig
3. ¥ Notepad | Aeig

4 ¥ MS SQL Server | TAUE THFIIHA Teid

Question Number : 83 Question Id : 3354726613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What happens when you select a row and press CTRL, SHIFT and Flus (+) at the sarme time in MS Excel? | &7
FIAT & Tl S0 UATE 92 H U €1 &7 2909 #ed & & CTRL, SHIFT 3 Plus (+) UF 91 2a1d &7

Options :

1. ® The task manager window opens | Te® AR [del Gad! 3l

2. ¥ All the numeric values of the selected row are added | TA-a T & THT GEATCHT AT FT 2T 51 A9 31
3. ¥ A new row is added above the selected row | FATT T & T T A5 Ul IS TG T gl

4. % A new worksheet is added to the workbook | @b # Ua 74T gesic I AT 8]

Question Number : 84 Question Id : 3354726614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who introduced the dataphone and the first known MODEM? | ToFa- Gdned SRIGH 3T U5l A9 ATSH &7 STWRT

Options :
1. ¢ AT&T | Ut aiiv &t

2 ® [BM | aTgeIw

3. ® Juniper | T
4 % Cisco | ot

Question Number : 85 Question Id : 3354726615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following CANNOT be used to connect the internet? | g # & fereT Iuiv, g2ee & @-de @i & oy
EHREEIEIGET N

Options :

1. ¥ Electrical line | Saloedd AE"
2. ¥ Cable TV lines | e aldl @G-
3. ¥ Satellites | GedET

4. ¥ Telephone lines | TATGIM @AT5T

Question Number : 86 Question Id : 3354726616 Question Type MCQ Option Shuffling : Yes Display Question Number : Yes

[SLISUN Pl SRS A TUPUR LY o WL N PN A 5% - ey o S PNSP LU YN PN
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Correct: 1 Wrong: 0
How many bytes equal to a Kilobyte? | oha+ @ge, UF [FaldEe & el §id 57
Options :

21 pytes / 210 @1
i vies disc

220 bytes / 220 G5

2 %

20 bytes [ 230 FI5C
3 #

2% bytes / 2¥ @1BT
4 %

Question Number : 87 Question Id : 3354726617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In MS Excel 2007, which of the cell pointer indicates you that you can make selection? | UHUE U#dd 2007 #, &9
T EFA TATEeT TUHT S FaT 5 1oF S0 = 0 aFd 57

Options :

1. ¢ Doctor's syrmbol (Big Plus) | STt &1 0d 1% (F2T od)

2. % Small thin plus icon | 12T YTAT Yad #1 g

3. ¥ Mouse Pointer with anchor at the tip | H® U Ga STAT #1349 FaTget

4. ¥ None of above | IWIHd # & HIE 51

Question Number : 88 Question Id : 3354726618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhich of the following statement is INCORRECT about header and footer? | FRIT A G e sl pex raw o
I T T S 57

Options :

1. ¥ you can set different header and footer for even and odd pages. | 377 @8 797 o U= & fay 97 gt  Gex
CAR: TR C T i

2. ® You can set images in header and footer. | 30 §2¢ 3 Fet # AT 9T X T o)

3. ® You can set different header footer for first page of a section. | 31T U 4= & Ugel U & To1] T THT g8€ ST
et Pl T FE Tl gl

4. ¥ You can set different header and footer for last page of a section. | M0 U@ @I & SifdH 0 F oy T+ ge¢
T et He B G gl

Question Number : 89 Question Id : 3354726619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In M5 Word, ‘Ctrl+5’ key is used for: | TAUE G2 #, Ctrl+S &, 56 (60 SEdaHTA &l A1 5

Options :

1. ® Scenarios | &afwr
2. ¥ Save [ €

3. ¥ Size | gEA

4. % Spell Check | U =
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Question Number : 90 Question Id : 3354726620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LAN stands for: | LAN @740 ®7 &

Options :

1. ¥ Local Area Network | #ieel TieT Sedd

2. ® Logic Area Network | @Tia QT dedd

3. % Local Antenna Network | @l GiedT Heddr

4. ® Logic Antenna Network | @1 QieT dead

Question Number : 91 Question Id : 3354726621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which of the following functions removes the information in the original document or location? | g-# & & |
e, e STFgHe AT flehar H TaeT geral g7

Options :

1. ¥ slide | gABS

2. ¥ Cut | &

3. ® Copy | @l

4. % Paste | U7

Question Number : 92 Question Id : 3354726622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the following is used to change page-size and margins in MS Word 20077 | TAUE 98 2007 # FEieaT
H & T it BT U U851 T AT § agete @i o Toiy T < et 27

Options :

1. ¢ Page-Setup | U9-dTam
2. ® View | 99

3. % Tools | 79

4. ® Data | ET

Question Number : 93 Question Id : 3354726623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
IT stands for: | IT @70 €0 &

Options :

. ¥ Information technology | STHIHIA dg-laATT
2. ® Internet technology | %= eg-iaMT

3. ® Information tracking | SHTAI o b1l

4. ® Interesting technology | STLIeLIT eqpalaral

—

Question Number : 94 Question Id : 3354726624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

A terabyte represents ___________ bytes. | U@ SeBe H ________ 5T BId &l
Options :

1. ® 1 million | 1 ez



11th Dec17 Shift 1

2 % 1 billon | 1 BT

3. ¥ 1 kilobyte | 1 ratamEe
4. ¥ 1 trillion | 1 e

Question Number : 95 Question Id : 3354726625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
An example for magnetic storage device is: | AUR® #1 & SaEd &7 UF IS5 &

Options :

1. ¥ OMR | 3UHST

2. ¥ Hard disk | g€ 2q&

3. ¥ CD-ROM disc | #1ET-T1 g
4. ¥ Memory strip | AAleT &2

Question Number : 96 Question Id : 3354726626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Wwhich of the following statement is CORRECT in order to select the group of cell in MS Excel?
i. Select a Cell, Hold Shift Key and Select the final cell
ii. Drag the cells with mouse
iii. Select a cell, Hold Shift Key using Arrow Keys
UAUH UFE o H 96 & 0 &1 deide B & 100 39 70 H FEdiead # & 10 97 5T JoaF 57
i. wﬁﬂaﬁﬁﬁmaﬁ%@raﬁ@%aﬁaﬁrmﬁaaﬁﬁﬁmﬁ
ii. ATIE &l TETIaT & ed T 217 Fe
iil. U ET BT Helere e, TR HT T TEdRATH Bl U A0 & Pl Glead B

Options :

1. ® Statement i and ii only | & woi efivii
2. ® Statement i and iii only | T&d Feei i
3. ¥ Statement ii and iii only | % T ii o€ iii
4 ¥ all of the above | IWRIFd a4t

Question Number : 97 Question Id : 3354726627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
15 any dev1ce Such as FC, printer, or another server, which requests services or resources from a

f-!iq‘rﬁitﬁ fifee, mmﬂfﬁ AT e Hal¥ | SdTell AT HETe! H SR FaT 8]

Options :
1. ® Networking | JeaidnT

2. ® workstation | g
. ¥ Clients | Fdlse
® LAN | &9

LA}

-

Question Number : 98 Question Id : 3354726628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
_________ also called the web, contains billions of docurnents. | _______ @1 da Hf %51 (a7 §, ToH aRdl STHgHe 51d &

Options :
1. ¢ World Wide Web | ads ares 9

2. ¥ HTTP | TIeremy
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3. ¥ Web portal [ dg Uk
4. #® Domain | EET

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 99 Question Id : 3354726629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Which software is needed to boot the computer? | HILT HI g B & 1610 B9 T FIFTAT DT 6T Gl 1 57

Options :

1. ¢ Operating Systern | AT Eeen

. ® Loader | @it

. ® MS Office | gAUS aATiGe

4. % Application Programs | Uftererard WO

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

2
3

Question Number : 100 Question Id : 3354726630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwhich of the following is NOT a hardware? | 798 # & 99T UF §12d4¢ 75l 27

Options :

1. ® Processor chip | Wee =0
2. ¥ Printer | T

¥ Mouse | 7I3H

¥ Java | SmET

NN



